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JUMMBLED PRAGRAPH-1 
(A) Basic human needs also include a sense of 
belongingness, a felling of control over one’s life. 

(B) Motivation and inspiration energize people in to 
action 

(C) Ability to live up to one’s ideals besides all these is 
also a fundamental need 

(D) This is done not by pushing them in the right 

direction as control mechanisms. 
(E) such feelings touch us deeply and elicit powerful 

response. 
(F) But it is alone by satisfying basic human needs for 

achievement. 

1. Which of the following should be the FIRST 
statement after rearrangement? 

(1) A (2) B (3) C (4) D (5) E 
2. Which of the following should be the SECOND 

statement after rearrangement? 

(1) A (2) B (3) C (4) D (5) E 
3. Which of the following should be the FOURTH 

statement after rearrangement? 
(1) A (2) B (3) C (4) D (5) E 

4. Which of the following should be 
the FIFTH statement after rearrangement? 

(1) A (2) B (3) C (4) D (5) E 

5. Which of the following should be the SIXTH 
(LAST) statement after rearrangement? 

(1) A (2) B (3) C (4) D (5) E 

JUMBLED PRAGRAPH-2 
(A) For other wishes, it enlists the help of those who 

make or own what the child desires. 
(B) It grants some wishes with its own funds depending 

upon the availability of funds. 

(C) I was deeply moved when I learnt about the activity 
of “Make – a Wish foundation”. 

(D) From parents, friends, or hospital attendants, the 
foundation learns about the child’s wish for anything from 

a special toy to a visit to Disneyland. 

(E) I am sure you also now must have been moved by 
the noble act of the foundation. 

(F) It grants the wishes of children who are terminally ilL 
1. Which of the following should be the FOURTH 

sentence after rearrangement? 

1) F 2) E 3) D 4) C 5) B 
2. Which of the following should be the SIXTH 

(LAST) sentence after rearrangement? 
1) F 2) E 3) D 4) C 5) B 

3. Which of the following should be the SECOND 
sentence after rearrangement? ’ 

1) F 2) E 3) D 4) C 5) B 

4. Which of the following should be the THIRD 
sentence after rearrangement? 

1) F 2) E 3) D 4) C 5) B 
 

5. Which of the following should be the FIRST 

sentence after rearrangement? 
1) F 2) E 3) D 4) C 5) B 

JUMMBLED PRAGRAPH-3 
(A) It is not wonder that a majority of these 
excluded and low-achievers come from the most 

deprived sections of the society.  
(B) They are precisely those who are supposed to 

be empowered through education.  

(C) With heighted political consciousness about 
the plight of these  to-be-empowered people, 

never in the history of India has the demand for 
inclusive education been as fervent as today.  

(D) They either never enroll or they drop out of 

schools as different stages during these eight 
years. 

(E) Of the nearly 200 million children in the age 
group complete eight years of elementary 

education.  

(F) Of those who do complete eight years of 
schooling the achievement levels of a large 

percentage, in language and mathematics, is 
unacceptably low.  

1. Which of the following should be the THIRD sentence 
after rearrangement?  

1) A 2) B 3) C 4) D 5) F 
2. Which of the following should be the FIRST sentence 
after rearrangement? 

1) A 2) B 3) C 4) D 5) E 
3. Which of the following should be the SECOND 

sentence after rearrangement? 

1) F 2) E 3) D 4) C 5) B 
4. Which of the following should be the FOURTH 

sentence after rearrangement? 
1) A 2) B 3) C 4) D 5) E 

5. Which of the following should be the FIFTH sentence 
after rearrangement? 

1) F 2) E 3) D 4) B 5) A 

JUMBLED PRAGRAPH-4 
(A) This is in spite of the fact that the Indian 
subcontinent receives much higher annual rainfall 

compared to other major continental areas. 
(B) Other objectives are to increase food grain 

production for the growing population, hydro–

power production and inland navigation. 
(C) No doubt, this rainfall is very unevenly 

distributed geographically and in terms of time, 
just as any other gift of nature. 

(D) One of the major outcomes of 'development' is 
water-scarcity. 
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(E) Projects of this nature for the 'common good' 
of all people are of utmost importance and need a 

thorough scientific study using some of the basic 
ideas of earth-system sciences. 

(F) One of the proclaimed aims of the proposed 

project on interlinking of Indian rivers is to 
remove this natural imbalance, which has also 

been cause of undesirable flooding in some 
regions and drought in others. 

1. Which of the following should be the "FIFTH" 

sentence after rearrangement? 
a) F   b) B   c) E   d) C   e) A 

2. Which of the following should be the "SECOND" 
sentence after rearrangement? 

a) B   b) E   c) F   d) A  e) C 
3. Which of the following should be the "LAST (SIXTH)" 

sentence after rearrangement? 

a) E   b) B   c) F   d) C  e) A 
4. Which of the following should be the "FIRST" 

sentence after rearrangement? 
a) A   b) F   c) C   d) B  e) D 

5. Which of the following should be the "THIRD" 

sentence after rearrangement? 
a) F   b) A   c) C   d) D  e) B 

JUMMBLED PRAGRAPH-5 
(A) This is in spite of the fact that the Indian 
subcontinent receives much higher annual rainfall 

compared to other major continental areas. 
(B) Other objectives are to increase food grain 

production for the growing population, hydro–

power production and inland navigation. 
(C) No doubt, this rainfall is very unevenly 

distributed geographically and in terms of time, 
just as any other gift of nature. 

(D) One of the major outcomes of 'development' is 

water-scarcity. 
(E) Projects of this nature for the 'common good' 

of all people are of utmost importance and need a 
thorough scientific study using some of the basic 

ideas of earth-system sciences. 
(F) One of the proclaimed aims of the proposed 

project on interlinking of Indian rivers is to 

remove this natural imbalance, which has also 
been cause of undesirable flooding in some 

regions and drought in others. 
1. Which of the following should be the "FIFTH" 

sentence after rearrangement? 

a) F   b) B   c) E   d) C   e) A 
2. Which of the following should be the "SECOND" 

sentence after rearrangement? 
a) B   b) E   c) F   d) A  e) C 

3. Which of the following should be the "LAST (SIXTH)" 

sentence after rearrangement? 
a) E   b) B   c) F   d) C  e) A 

4. Which of the following should be the "FIRST" 
sentence after rearrangement? 

a) A   b) F   c) C   d) B  e) D 
5. Which of the following should be the "THIRD" 

sentence after rearrangement? 

a) F   b) A   c) C   d) D  e) B 

 
Solution: 

JUMMBLED PRAGRAPH-1 
The correct sequence is :BDFAEC 

JUMBLED PRAGRAPH-2 
The correct sequence is :CFDBAE 

JUMMBLED PRAGRAPH-3 
The correct sequence is EDFABC 

JUMBLED PRAGRAPH-4 
The correct sequence is DACFBE 

JUMMBLED PRAGRAPH-5 
The correct sequence is DACFBE 

 
 
 
 
 
 
 
 


